if low bid is acceptable. (2) Attach memo stating why low bid is not acceptable (3) Return your recommendation to Purchasing GISD BID #13-14-05 DRY GOODS PAGE 1 Note: (1) Control Agent initial here:

Purchasing Agent: Mr. Demet	rious Giovas, Director of SNP	Box No.:	Telephone No.:	
Bid Number: 13-14-05	Advertising Date: October 16, 2013	Opening Date: November 13	, 2013	
Description: Dry Goods				
Purchasing Agent:		Witness:		

			SHAMROC	K	LABATT		SYSCO		DEE'S	
Item	Description	Qty	Per Case	Total						
1	Animal Snackers	100	\$43.32	\$4,332.00	21.75	\$2,175.00	\$20.27	\$2,027.00	\$22.65	\$2,265.00
2	Baking Soda	20	\$15.17	\$303.40	\$16.67	\$333.40	\$15.22	\$304.40	\$18.99	\$379.80
3	Base Chicken Vegetable	100	\$31.38	\$3,138.00	NB	NB	NB	NB	NB	#VALUE!
4	Beans Dehydrated	150	\$23.40	\$3,510.00	\$20.35	\$3,052.50	NB	NB	\$26.10	\$3,915.00
5	Beans Pinto B	200	\$25.63	\$5,126.00	\$22.57	\$4,514.00	\$21.82	\$4,364.00	\$22.61	\$4,522.00
6	Beans ranch style	200	\$27.42	\$5,484.00	\$24.74	\$4,948.00	\$26.95	\$5,390.00	\$23.35	\$4,670.00
7	Candy - Musketeers	5	\$21.67	\$108.35	\$21.68	\$108.40	NB	NB	NB	#VALUE!
8	Candy - Butterfinger	5	\$21.52	\$107.60	\$21.60	\$108.00	\$23.92	\$119.60	NB	#VALUE!
9	Candy - Hershey's Milk Choc.	5	\$22.62	\$113.10	\$22.70	\$113.50	NB	NB	NB	#VALUE!
10	Candy - M&M Milk Choc.	5	\$21.67	\$108.35	\$28.95	\$144.75	\$29.87	\$149.35	NB	#VALUE!
11	Candy - M&M Peanut	5	\$28.90	\$144.50	\$28.95	\$144.75	\$29.87	\$149.35	NB	#VALUE!
12	Candy - Milky Way	5	\$21.67	\$108.35	\$21.70	\$108.50	NB	NB	NB	#VALUE!
13	Candy -Payday	5	\$15.08	\$75.40	\$15.70	\$78.50	\$15.39	\$76.95	NB	#VALUE!
14	Candy - Reese's Peanut Butter	5	\$22.62	\$113.10	\$22.60	\$113.00	\$23.09	\$115.45	NB	#VALUE!
15	Candy-Snickers w/almond	5	\$14.78	\$73.90	\$170.02	\$850.10	NB	NB	NB	#VALUE!
16	Candy-snickers	5	\$28.90	\$144.50	\$28.95	\$144.75	NB	NB	NB	#VALUE!
TOTAL	PRICE									
TERMS	3									
DELIVE	RY									
FOB										
IN-STA	TE PREFERENCE NUMBER									

if low bid is acceptable. (2) Attach memo stating why low bid is not acceptable (3) Return your recommendation to Purchasing GISD BID #13-14-05 DRY GOODS PAGE 4 Note: (1) Control Agent initial here:

Purchasing Agent: Mr. Demet	rious Giovas, Director of SNP	Box No.:	Telephone No.:	
Bid Number: 13-14-05	Advertising Date: October 16, 2013	Opening Date: November 13	, 2013	
Description: Dry Goods				
Purchasing Agent:		Witness:		

			USFOODS							
Item	Description	Qty	Per Case	Total	Per Case	Total	Per case	Total	Per Case	Total
1	Animal Snackers	100	\$24.84	\$2,484.00		\$0.00		\$0.00		\$0.00
2	Baking Soda	20	NB	#VALUE!		\$0.00		\$0.00		\$0.00
3	Base Chicken Vegetable	100	\$42.39	\$4,239.00		\$0.00		\$0.00		\$0.00
4	Beans Dehydrated	150	NB	#VALUE!		\$0.00		\$0.00		\$0.00
5	Beans Pinto B	200	NB	#VALUE!		\$0.00		\$0.00		\$0.00
6	Beans ranch style	200	\$28.12	\$5,624.00		\$0.00		\$0.00		\$0.00
7	Candy - Musketeers	5	NB	#VALUE!		\$0.00		\$0.00		\$0.00
8	Candy - Butterfinger	5	NB	#VALUE!		\$0.00		\$0.00		\$0.00
9	Candy - Hershey's Milk Choc.	5	NB	#VALUE!		\$0.00		\$0.00		\$0.00
10	Candy - M&M Milk Choc.	5	NB	#VALUE!		\$0.00		\$0.00		\$0.00
11	Candy - M&M Peanut	5	NB	#VALUE!		\$0.00		\$0.00		\$0.00
12	Candy - Milky Way	5	NB	#VALUE!		\$0.00		\$0.00		\$0.00
13	Candy -Payday	5	NB	#VALUE!		\$0.00		\$0.00		\$0.00
14	Candy - Reese's Peanut Butter	5	NB	#VALUE!		\$0.00		\$0.00		\$0.00
15	Candy-Snickers w/almond	5	NB	#VALUE!		\$0.00		\$0.00		\$0.00
16	Candy-snickers	5	NB	#VALUE!		\$0.00		\$0.00		\$0.00
TOTAL	PRICE									
TERMS	}									
<b>DELIVE</b>	RY									
FOB										
IN-STA	TE PREFERENCE NUMBER									

			SHAMROCK		LAE	BATT	SYSCO		DE	E'S
Item	Description	Qty	Per Case	Total	Per Case	Total	Per Case	Total	Per Case	Total
17	Celestial Seasoning Tea	10	NB	#VALUE!	3.86	\$38.60	NB	#VALUE!	NB	#VALUE!
18	Cereals, Bowl	2000	\$32.38	\$64,760.00	20.40	\$40,800.00	\$18.60	\$37,200.00	NB	#VALUE!
19	Cheddar Goldfish	50	\$14.32	\$716.00	14.84	\$742.00	NB	#VALUE!	\$15.64	\$782.00
20	Chili Powder NM red chile	50	\$17.59	\$879.50	20.04	\$1,002.00	\$16.98	\$849.00	\$17.62	\$881.00
21	Coffee Filters (each)	20	\$9.11	\$182.20	8.86	\$177.20	NB	#VALUE!	NB	#VALUE!
22	Coffee Folgers Ultra Roasted	10	\$52.19	\$521.90	69.28	\$692.80	NB	#VALUE!	NB	#VALUE!
23	Coffee Folgers naturally decaf	5	\$49.14	\$245.70	51.15	\$255.75	\$50.73	\$253.65	NB	#VALUE!
24	Cominos Ground	24	\$48.12	\$1,154.88	22.12	\$530.88	NB	#VALUE!	\$19.71	\$473.04
	Corn Starch	30	\$20.43	\$612.90	19.82	\$594.60	\$17.61	\$528.30	NB	#VALUE!
26	Croutons	200	\$16.50	\$3,300.00	16.53	\$3,306.00	NB	#VALUE!	NB	#VALUE!
27	Dehydrated Potatoes	25	\$43.71	\$1,092.75	41.89	\$1,047.25	\$43.63	\$1,090.75	\$49.56	\$1,239.00
28	Dehydrated Onions	25	\$30.49	\$762.25	51.05	\$1,276.25	\$43.34	\$1,083.50	\$42.41	\$1,060.25
29	Evaporated Milk	25	\$28.10	\$702.50	19.20	\$480.00	\$27.28	\$682.00	\$19.35	\$483.75
	Fajita Seasoning	50	\$12.36	\$618.00	25.20	\$1,260.00	\$51.41	\$2,570.50	\$6.45	\$322.50
		10	\$26.07	\$260.70	26.56	\$265.60	\$23.89	\$238.90	NB	#VALUE!
	Doritos Nacho cheese	10	\$26.07	\$260.70	26.56	\$265.60	\$23.89	\$238.90	NB	#VALUE!
33	Original Corn Chips	10	\$26.07	\$260.70	26.56	\$265.60	\$23.89	\$238.90	NB	#VALUE!
34	Cheetos Crunchy Flaming hot	10	\$26.07	\$260.70	26.56	\$265.60	\$23.89	\$238.90	NB	#VALUE!
35	Lays classic big grab	10	\$26.07	\$260.70	26.56	\$265.60	\$23.89	\$238.90	NB	#VALUE!
36	Lays sour cream & onion	10	\$26.07	\$260.70	26.56	\$265.60	\$23.89	\$238.90	NB	#VALUE!
37	Garlic powder	25	\$9.00	\$225.00	29.30	\$732.50	\$27.09	\$677.25	\$24.67	\$616.75
38	Graham cracker choc. Giant gold	50	\$40.14	\$2,007.00	41.48	\$2,074.00	NB	#VALUE!	\$46.44	\$2,322.00
39	Graham cracker oats & honey	50	\$43.39	\$2,169.50	41.48	\$2,074.00	NB	#VALUE!	\$46.46	\$2,323.00
40	Honey graham crackers	500	\$16.72	\$8,360.00	15.83	\$7,915.00	NB	#VALUE!	\$17.88	\$8,940.00
41	Jalapenos	75	\$19.05	\$1,428.75	22.49	\$1,686.75	\$19.95	\$1,496.25	\$20.01	\$1,500.75
42	Lemon juice concentrate	25	\$29.62	\$740.50	24.33	\$608.25	\$24.83	\$620.75	\$18.37	\$459.25
43	Milk Dry Non-Fat	25	\$102.49	\$2,562.25	55.21	\$1,380.25	\$74.17	\$1,854.25	NB	#VALUE!
44	Olives	10	\$40.73	\$407.30	31.91	\$319.10	\$33.36	\$333.60	NB	#VALUE!
45	Onion Powder	24	\$5.95	\$142.80	5.25	\$126.00	\$5.47	\$131.28	\$4.75	\$114.00
46	Pan release	50	\$28.33	\$1,416.50	12.60	\$630.00	\$13.32	\$666.00	NB	#VALUE!
47	Paprika	25	\$35.73	\$893.25	31.60	\$790.00	\$30.37	\$759.25		\$471.25
48	Pepper black	25	\$27.18	\$679.50	26.63	\$665.75	\$48.88	\$1,222.00	\$31.53	\$788.25

			USFO	OODS						
Item	Description	Qty	Per Case	Total	Per Case	Total	Per Case	Total	Per Case	Total
17	Celestial Seasoning Tea	10	NB	#VALUE!		\$0.00		\$0.00		\$0.00
18	Cereals, Bowl	2000	NB	#VALUE!		\$0.00		\$0.00		\$0.00
19	Cheddar Goldfish	50	NB	#VALUE!		\$0.00		\$0.00		\$0.00
20	Chili Powder NM red chile	50	NB	#VALUE!		\$0.00		\$0.00		\$0.00
21	Coffee Filters (each)	20	NB	#VALUE!		\$0.00		\$0.00		\$0.00
22	Coffee Folgers Ultra Roasted	10	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Coffee Folgers naturally decaf	5	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Cominos Ground	24	NB	#VALUE!		\$0.00		\$0.00		\$0.00
25	Corn Starch	30	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Croutons	200	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Dehydrated Potatoes	25	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Dehydrated Onions	25	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Evaporated Milk	25	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Fajita Seasoning	50	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Frito Lay Cheetos crunchy	10	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Doritos Nacho cheese	10	NB	#VALUE!		\$0.00		\$0.00		\$0.00
33	Original Corn Chips	10	NB	#VALUE!		\$0.00		\$0.00		\$0.00
34	Cheetos Crunchy Flaming hot	10	NB	#VALUE!		\$0.00		\$0.00		\$0.00
35	Lays classic big grab	10	NB	#VALUE!		\$0.00		\$0.00		\$0.00
36	Lays sour cream & onion	10	NB	#VALUE!		\$0.00		\$0.00		\$0.00
37	Garlic powder	25	NB	#VALUE!		\$0.00		\$0.00		\$0.00
38	Graham cracker choc. Giant gold	50	NB	#VALUE!		\$0.00		\$0.00		\$0.00
39	Graham cracker oats & honey	50	NB	#VALUE!		\$0.00		\$0.00		\$0.00
40	Honey graham crackers	500	\$31.25	\$15,625.00		\$0.00		\$0.00		\$0.00
41	Jalapenos	75	\$43.37	\$3,252.75		\$0.00		\$0.00		\$0.00
42	Lemon juice concentrate	25	NB	#VALUE!		\$0.00		\$0.00		\$0.00
43	Milk Dry Non-Fat	25	NB	#VALUE!		\$0.00		\$0.00		\$0.00
44	Olives	10	NB	#VALUE!		\$0.00		\$0.00		\$0.00
45	Onion Powder	24	NB	#VALUE!		\$0.00		\$0.00		\$0.00
46	Pan release	50	\$13.75	\$687.50		\$0.00		\$0.00		\$0.00
47	Paprika	25	NB	#VALUE!		\$0.00		\$0.00		\$0.00
48	Pepper black	25	NB	#VALUE!		\$0.00		\$0.00		\$0.00

			SHAM	ROCK	LAE	BATT	SYSCO		DE	E'S
Item	Description	Qty	Per Case	Total						
49	Pepperidge farm goldfish	20	\$53.90	\$1,078.00	\$49.08	\$981.60	\$48.81	\$976.20	\$54.17	\$1,083.40
50	Pickles	400	\$19.32	\$7,728.00	\$18.51	\$7,404.00	\$23.06	\$9,224.00	NB	#VALUE!
51	Pimento Peppers Red	50	\$54.61	\$2,730.50	\$24.00	\$1,200.00	\$33.15	\$1,657.50	NB	#VALUE!
52	Portion packets catsup	400	\$25.55	\$10,220.00	\$13.00	\$5,200.00	NB	NB	\$15.39	\$6,156.00
53	Portion packets dressing salad	500	\$22.36	\$11,180.00	\$7.78	\$3,890.00	NB	NB	\$8.83	\$4,415.00
54	Portion packets jelly asst.	500	\$12.53	\$6,265.00	\$9.84	\$4,920.00	\$10.84	\$5,420.00	\$10.63	\$5,315.00
55	Portion packets mustard	200	\$10.31	\$2,062.00	\$5.67	\$1,134.00	\$5.37	\$1,074.00	\$6.50	\$1,300.00
56	Portion packets pancake syrup	700	\$11.98	\$8,386.00	\$9.11	\$6,377.00	\$8.63	\$6,041.00	\$10.09	\$7,063.00
57	Portion packets ranch dressing	1200	\$15.51	\$18,612.00	\$9.78	\$11,736.00	NB	NB	\$11.12	\$13,344.00
58	Portion packets salsa	500	\$12.23	\$6,115.00	\$16.83	\$8,415.00	\$6.32	\$3,160.00	NB	#VALUE!
59	Portion packets tartar sauce	250	\$12.79	\$3,197.50	\$8.89	\$2,222.50	\$8.51	\$2,127.50	\$9.89	\$2,472.50
60	Raisins	75	\$44.66	\$3,349.50	\$47.12	\$3,534.00	\$63.44	\$4,758.00	\$45.83	\$3,437.25
61	Brown rice long grain	150	\$14.21	\$2,131.50	NB	NB	\$27.93	\$4,189.50	NB	#VALUE!
62	Salad dressing	75	\$42.50	\$3,187.50	\$28.55	\$2,141.25	\$26.20	\$1,965.00	NB	#VALUE!
	Seasoning salt	75	\$56.55	\$4,241.25	\$11.60	\$870.00	\$53.89	\$4,041.75	\$14.99	\$1,124.25
64	Soup-cream of chicken	50	NB	NB	\$37.18	\$1,859.00	NB	NB	\$44.71	\$2,235.50
65	Soup-cream of mushroom	50	NB	NB	\$36.85	\$1,842.50	NB	NB	\$44.71	\$2,235.50
66	Spaguetti whole grain	500	\$16.95	\$8,475.00	\$17.09	\$8,545.00	\$23.28	\$11,640.00	\$17.86	\$8,930.00
67	Sugar brown	40	\$20.92	\$836.80	\$19.94	\$797.60	\$16.64	\$665.60	\$19.59	\$783.60
	Sun chips harvest cheddar	10	\$26.07	\$260.70	NB	NB	\$23.64	\$236.40	NB	#VALUE!
	Tomatoes	1000	\$22.54	\$22,540.00	\$20.30	\$20,300.00	\$22.85	\$22,850.00	\$21.15	\$21,150.00
70	Vinegar white	75	\$5.89	\$441.75	\$10.58	\$793.50	\$16.04	\$1,203.00	\$16.15	\$1,211.25
71	Water	1000	NB	NB	NB	NB	NB	NB	\$7.25	\$7,250.00
72				\$0.00		\$0.00		\$0.00		\$0.00
73				\$0.00		\$0.00		\$0.00		\$0.00
74				\$0.00		\$0.00		\$0.00		\$0.00
75				\$0.00		\$0.00		\$0.00		\$0.00
76				\$0.00		\$0.00		\$0.00		\$0.00
77				\$0.00		\$0.00		\$0.00		\$0.00
78				\$0.00		\$0.00		\$0.00		\$0.00
79				\$0.00		\$0.00		\$0.00		\$0.00
80				\$0.00		\$0.00		\$0.00		\$0.00
81				\$0.00		\$0.00		\$0.00		\$0.00

82		\$0.00	\$0.00	\$0.00	\$0.00
83		\$0.00	\$0.00	\$0.00	\$0.00
84		\$0.00	\$0.00	\$0.00	\$0.00
85		\$0.00	\$0.00	\$0.00	\$0.00
86		\$0.00	\$0.00	\$0.00	\$0.00
87		\$0.00	\$0.00	\$0.00	\$0.00

			USF	OODS						
Item	Description	Qty	Per Case	Total	Per Case	Total	Per Case	Total	Per Case	Total
49	Pepperidge farm goldfish	20	NB	#VALUE!		\$0.00		\$0.00		\$0.00
50	Pickles	400	NB	#VALUE!		\$0.00		\$0.00		\$0.00
51	Pimento Peppers Red	50	NB	#VALUE!		\$0.00		\$0.00		\$0.00
52	Portion packets catsup	400	\$30.67	\$12,268.00		\$0.00		\$0.00		\$0.00
53	Portion packets dressing salad	500	NB	#VALUE!		\$0.00		\$0.00		\$0.00
54	Portion packets jelly asst.	500	NB	#VALUE!		\$0.00		\$0.00		\$0.00
55	Portion packets mustard	200	NB	#VALUE!		\$0.00		\$0.00		\$0.00
56	Portion packets pancake syrup	700	NB	#VALUE!		\$0.00		\$0.00		\$0.00
57	Portion packets ranch dressing	1200	NB	#VALUE!		\$0.00		\$0.00		\$0.00
58	Portion packets salsa	500	NB	#VALUE!		\$0.00		\$0.00		\$0.00
59	Portion packets tartar sauce	250	NB	#VALUE!		\$0.00		\$0.00		\$0.00
60	Raisins	75	NB	#VALUE!		\$0.00		\$0.00		\$0.00
61	Brown rice long grain	150	NB	#VALUE!		\$0.00		\$0.00		\$0.00
62	Salad dressing	75	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Seasoning salt	75	NB	#VALUE!		\$0.00		\$0.00		\$0.00
64	Soup-cream of chicken	50	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Soup-cream of mushroom	50	NB	#VALUE!		\$0.00		\$0.00		\$0.00
66	Spaguetti whole grain	500	NB	#VALUE!		\$0.00		\$0.00		\$0.00
67	Sugar brown	40	NB	#VALUE!		\$0.00		\$0.00		\$0.00
	Sun chips harvest cheddar	10	NB	#VALUE!		\$0.00		\$0.00		\$0.00
69	Tomatoes	1000	\$23.10	\$23,100.00		\$0.00		\$0.00		\$0.00
70	Vinegar white	75	NB	#VALUE!		\$0.00		\$0.00		\$0.00
71	Water	1000	NB	#VALUE!		\$0.00		\$0.00		\$0.00
72				\$0.00		\$0.00		\$0.00		\$0.00
73	;			\$0.00		\$0.00		\$0.00		\$0.00
74	ı			\$0.00		\$0.00		\$0.00		\$0.00
75	<b>;</b>			\$0.00		\$0.00		\$0.00		\$0.00
76	5			\$0.00		\$0.00		\$0.00		\$0.00
77	,			\$0.00		\$0.00		\$0.00		\$0.00
78	3			\$0.00		\$0.00		\$0.00		\$0.00
79				\$0.00		\$0.00		\$0.00		\$0.00
80				\$0.00		\$0.00		\$0.00		\$0.00
81				\$0.00		\$0.00		\$0.00		\$0.00

82		\$0.00	\$0.00	\$0.00	\$0.00
83		\$0.00	\$0.00	\$0.00	\$0.00
84		\$0.00	\$0.00	\$0.00	\$0.00
85		\$0.00	\$0.00	\$0.00	\$0.00
86		\$0.00	\$0.00	\$0.00	\$0.00
87		\$0.00	\$0.00	\$0.00	\$0.00